*F E & H K ® i B W & &

SHTEIA13H
£AH g TEEH |FERSIOAZ|HEK) EB (ke)| SEM) | $EM) | RiEFE) k= No.
R7.9.13 [2L\ZA &t ) = @
R7.9.13 [I2ALA A Y = @
R7.9.13 |CI1X> &5t Y -
R7.9.13 |hAZA A&t Y -
R7.9.13 [[&<E0y &t ) = ®
R7.9.13 v~y &5t #Y = @
R7.9.13 [RL2yy &t ) = ®
R7.9.13 [fa¥ (F) Gl ) —R ®
R7.9.13 [ha¥ &t ) = ®
R7.9.13 [L2Z A Y = @
R7.9.13 |Z®5Y (X—3—) 48 By 507
R7.9.13 |Zp>5Y aF Y 3.0
R7.9.13 |MFEw &% ) = ©)
R7.9.13 |54 aF Y = ®
R7.9.13 [r=h &% ) = @
R7.9.13 |E—<> &t By = @
R7.9.13 |MhAL& &t Y -
R7.9.13 [[Ehi L& &t By = ®
R7.9.13 |&&l g FhiE Y 10
R7.9.13 [&&LE A Y = @
R7.9.13 [PFELLE &t 0] -
R7.9.13 |f=Fh¥ &t By = ®
R7.9.13 |&ELLV=IF E4A Y 0.1
R7.9.13 |4£LLV=1F A|E Y -
R7.9.13 [ZDEF =1 0] -
R7.9.13 | A%HLOL FhiE Y 0.1
R7.9.13 [57%L&HL =1 0] -
R7.9.13 |&t 0] 3.0
R7.9.13 |#&t Y 3.0 i RE
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ATTEEIA 13 A
£AH f FEEH |FERSIOAE| HEW |2H (ko) | SEMAE) HiE (M) RIE (M) &% No.
R7.9.13 |EL\ZA dtimiE Aaxt 19.1 10 1,944 1,728 1,620 ©)
R7.9.13 |2\ A it Aaxt 19.1 ©)
R7.9.13 |IZALCA dtimiE Aaxt 29.4 10 2,700 1,296 1,080 )
R7.9.13 |IZALA it Aaxt 29.4 @)
R7.9.13 |CIF5 55 A%t 10
R7.9.13 |ZIF>5 it Aaxt 0.7
R7.9.13 |hACA RI A%t 34 4 1,944 1,944 1,620
R7.9.13 |hAZA it Aaxt 38
R7.9.13 |[E<&E L RE A%t 11.8 15 1620 1404 ®
R7.9.13 |[&<&ELY &it AAxt 1.8 ©)
R7.9.13 |F¥ ARy K5 A%t 10 @
R7.9.13 |Fv¥ Y R Aaxt 35.0 10 1,296 1,015 972 @
R7.9.13 |Fv Ry At HAxt 35.0 @
R7.9.13 |FRoL Y™ HA A%t 01| —% 253 238 184 ®
R7.9.13 |RoL2Y™D % A%t —=K ®
R7.9.13 |7RL2Y™ aE AAxt 0.3 ®
R7.9.13 |R&E (§F) FriE A%t 05| —® 248 194 108 ®
R7.9.13 |R& (A) &% Aaxt 35 5 3,240 1,944 1,404 ®
R7.9.13 |fa& At HAxt 4.4 ®
R7.9.13 |LAR o334 A%t 11.9 10 1,955 @
R7.9.13 |LAR &it HAxt 1.9 @
R7.9.13 |Ew5Y(X—3—) FoiE A%t 5074
R7.9.13 |ZEp>Y (A) i A%t 39 5 2,808 2,808 2,484
R7.9.13 |Zw35Y(H) HE #axt 1.3 5 2,808 2,592 2,052
R7.9.13 |Zp35Y At HAxt 9.0
R7.9.13 |MEB® JuiEE Aaxt 47 10 2,160 2,160 1,836 ©)
R7.9.13 | MEE% At Hxt 49 ®
R7.9.13 |7%29 (4&) [ITET Aaxt 1.9 5 2,376 2,160 1,944
R7.9.13 |%59 (R) I A%t 25 4 2,160 1,296 540
R7.9.13 %9 aF T 5.6
R7.9.13 |r<k JbiEE A%t 2.0 4 3,024 2,484 2,376 )
R7.9.13 |r<hk H HAxt 0.4 4 2,808 2,592 2,376 [0}
R7.9.13 |r<k At Hxt 24 @)
R7.9.13 |[E—<> H T 1.8 0.15 119 108 54 @
R7.9.13 |[E—<> At Hxt 22 ®
R7.9.13 |MAL& FIE HAxt 1.1 5 1,836 1,620 1612
R7.9.13 |MALE At Hxt 1.6
R7.9.13 |[EhL L& JuiEiE Aaxt 44 10 2,484 1,512 648 ®
R7.9.13 |[Eh L& At Hxt 44 ®
R79.13 &t £ #axt 1.1 10 5,724 5,724 4,860 ®
R7.9.13 |&&Ng = I A%t 0.2 0.5 259 259 248
R7.9.13 |&&LVE af Axt 14 ®
R7.9.13 |®FELLE FE AAxt 0.2 4 3,240 3,240 2,700
R7.9.13 |FELLE CH AAxt 0.2
R7.9.13 |f=FhF dtisiE #axt 252 20 3,240 2,700 2,160 ®
R7.9.13 |f=FhR&E AaF HExE 25.7 ®
R7.9.13 |&£LUMzIF FRiE AAxt 0.5 0.1 194 119 108
R7.9.13 |&LUL V=T AaF Xt 0.6
R7.9.13 |ZDEIT RE AAxt 1.1 0.2 97 70 54
R7.9.13 |ZDELIT AaF Xt 1.1
R7.9.13 | A%L&HL RE AAxt 0.5 0.1 79 49 32
R7.9.13 | S%EL&SHL FRiE HAxt 22 0.1 81 76
R7.9.13 | S%L&HL At AAxt 3.0
R7.9.13 |&F Xt 178.5
R7.9.13 |#a5t AAxt 178.5 iR RE
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F£HH o TEEM |FENMSIOAE|HEK) 2B (ke)| SEA) FEA) | REWMA) iE%E No.
R7.9.13 |&hA &% Y = <)
R7.9.13 (YA &% ) = @
R7.9.13 %L A ) = ®
R7.9.13 [R&ES &% Y = ®
R7.9.13 <Y AaF Y -

R7.9.13 [LVBLL EH Y 0.35

R7.9.13 [LyBLL a|E #Y -

R7.9.13 [ABX(7—ILR) EH Y 8

R7.9.13 [*Q> =1 Y -

R7.9.13 [&t Y -

R7.9.13 [#st By = HiR:RE
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£AA % FTEEH |FENMEIOAZ 20 |28 ke)| SEW) F{E (M) RIE(H) &% No.
R7.9.13 |A#DAGEBRERMW) |=F LS - 10 @
R7.9.13 |A#DAGERERM) |EiE LS - 10 @
R7.9.13 |&#H A a5 LS 0.3 @
R79.13 (VAT (Hr2oh3) |&BH Hxt 37 10 5,400 4,320 3,240 @
R79.13 (VAT (#r2oh%) | #axt 20 10 4,860 3,780 3,240 @
R7.9.13 |YAZ (Y2 Dhi%) ot 4 Hxt - 10 @
R7.9.13 VAT ait LS 5.8 @
R7.9.13 |%xL (FK) s 4 Hxt - 10 ®
R7.9.13 |%xL (27K) R Haxt 6.6 10 5,616 4,860 4,644 ©)
R7.9.13 [#:L (Z5K) RE Haxt 0.7 10 5,184 3,780 3,564 ®
R7.9.13 |%iL aF LS 7.3 ®
R7.9.13 [RES(EiE) RE Hxt 0.6 5 8,100 7,560 @
R7.9.13 | RES(EA—x) T Hxt 0.2 5 6,804 6,804 5,400 @
R7.9.13 [RES(vro=zrAvh) [ILFEL Hxt 20 5 10,260 6,480 5,400 @
R7.9.13 [R&ES Ch At 3.2 @
R7.9.13 [KY R Hxt 0.3 1
R7.9.13 |<Y Ch At 0.3
R7.9.13 |LVLL FhRE Hxt 02| 035 400 378 324
R7.9.13 |LV6LL At At 0.2
R7.9.13 [AQU(7—ILR) B8 rE Hxt 0.2 8 17,280 5,400
R7.9.13 [*Q> A% At 0.5
R7.9.13 [&t Haxt 17.6
R7.9.13 |#a&t Hxt 17.6 min:RE
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